
Table of integrals∫
u dv = u v −

∫
v du

∫
1
u

du = ln |u|+ C∫
eu du = eu + C

∫
au du =

au

ln a
+ C∫

sinu du = − cos u + C

∫
cos u du = sinu + C∫

sec2 u du = tan u + C

∫
csc2 u du = − cot u + C∫

sec u tanu du = sec u + C

∫
csc u cot u du = − csc u + C∫

tanu du = ln | sec u|+ C

∫
cot u du = ln | sinu|+ C∫

sec u du = ln | sec u + tanu|+ C

∫
csc u du = ln | csc u− cot u|+ C∫

du√
a2 − u2

= sin−1 u

a
+ C

∫
du

a2 + u2
=

1
a

tan−1 u

a
+ C∫

du√
u2 + a2

= ln(u +
√

u2 + a2) + C

∫
du√

u2 − a2
= ln |u +

√
u2 − a2|+ C

Moments and centers of mass

My = ρ

∫ b

a
x[f(x)− g(x)] dx, Mx = ρ

∫ b

a

1
2
[f2(x)− g2(x)] dx

x̄ =
My

ρA
, ȳ =

Mx

ρA

Remainder estimate for the integral test∫ ∞

n+1
f(x) dx ≤ Rn ≤

∫ ∞

n
f(x) dx

Sn +
∫ ∞

n+1
f(x) dx ≤ S ≤ Sn +

∫ ∞

n
f(x) dx

1


